Bauart:
Best.-Nr.:

ASkeu 636 (60Hz,110V)
72053513111

Pos.

Best.-Nr.

Benennung

Stk

Preis UVP o.
MwSt. (USD)

0010

31901117021

Motor housing

a. A.

0020

30701234002

Speed setting switch

0021

43013052033

Cylinder head screw

0030

30722161013

Capacitor

0040

30701238001

Toggle switch

0050

30712043001

Brush holder

0080

30711059007

Carbon brush

0090

30713010009

Cap

0100

43002014998

Cylinder head screw M3,5X12

0101

42443002992

Circlip M3,5

0120

51203003117

Stator 50Hz110V

0130

43002025991

Cylinder head screw M3,5X50

0140

31428004000

Insulating ring

0165

30707097010

Cable with plug

0170

31413142009

Cable grommet

0180

32431021007

Cable clamping piece

0190

43046002005

Sheet metal screw 3,5X13

0200

31201066005

Cover

0220

32805120000

Switch pushbutton

0230

43066006032

Countersunk screw

0240

43046024005

Sheet metal screw

0250

43066002992

Countersunk screw

0260

30719117014

Connecting cable

0270

30719118012

Connecting cable

0301

53203009110

Armature 50Hz110V

0330

41701001172

Grooved ball bearing

0340

31506307032

Intermediate bearing

0350

31508226106

Gearbox housing

0355

31508226016

Gearbox housing

0360

41701007038

Grooved ball bearing

0370

30602008004

Sealing ring

0371

42616001005

Circlip

0380

42616013001

Circlip

0390

33401066005

Shaft

0400

31601112006

Bush

0410

33607042005

Gear-wheel Z=42

0420

33707021003

Gear-wheel

0430

33657011003

Gear-wheel Z=30

0440

32624069038

Disc 69X0,3

0450

31601111003

Bush

0451

32407027006

Disc

0470

43002024997

Cylinder head screw M3,5X45

0480

43002021992

Cylinder head screw M3,5X35

0481

42443002992

Circlip M3,5

0490

32612047006

Sealing ring

0500

63204030004

Quick-action chucks

6000

32160003014

Lubricant tube 0,085 kg

9000

34100761061

Operating instructions

9010

34150761000

List of spare parts ASkeu636Ki

S G S I R R G N G R R R R N R R I G G R R N R R R S SR R S L R LS LR TR TN [ S N S

plopppppppppprpppppppppppppppppprppoppplpplpRppp
SEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEPP




Bauart: ASkeu 636 (60Hz,110V) @

Best.-Nr.: 72053513111

Pos. Best.-Nr. Benennung Stk Preis UVP o. AT
MwSt. (USD)

9020 | 34130054061 [Safety instruction 1 a. A. -




Bauart:
Best.-Nr.:

ASkeu 636 (60Hz,110V)
72053513111

7205 35 - ASkeu 636



